EARAROBEEIERT — 2 N— IBISH —F

201956820 (B) 5m{£E2H

mc 1—11# C1 ¥5%4m L ‘ [x1g] 2 ‘ [BERE] - | 4 (K) 14000 B
[AE4£] 1% :280,000 M ~ 23%&:84,000”  33%&:28,000M”  43%&:17,000 ™ .~ 57 :11,000
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- N FAFIK :30. 02— . — MRz (EE)
B E i 4 fo 1(3_0)4 2-2-2-1 | 38.9 8 :1_3; ﬁaﬁgi i
LAy agR—5— B4 70— NEOKE
= BERD :30. -8-6- . — THERE (£8)
e N o7 T 1(73?:;1 10-8-6-6 | 38.2 3 (4230) il B’
R:707% B:XFHINZYNFX J—HrTp—L
. it 4 | AR 1:30.4 5-4-4-3 |38.4| — 2 426 | FILEF (EH)
A7vAvr 54.0 (NF) 3 | (@) T P N
R:ZhOYTUE—> BF1TI—F el e
SELELY) s 4 || 1:(320).8 3-33-4 (8.9 — | 4 | 474 %Egﬂé )
R T RT—NEY BiLAATIA b 2 %5377 —n
8= S e # 7| SEEA (11:311/3 7-7-8-9 | 385 — | 5 | 474 zg?\fﬂ (%)
LAY T M F—Tr—K— K BiHrIHIT 2| iemans
= = AEE—BB :31. -9-9- . - IEEA (&)
6l7l9|77v>vazv—n IR Gaey | T8 M A
RIAY>T75yva B7IHAR J—HrTr—L
I8 ; 4 6 | HFEEA 1:31.0 8-10-10-10 | 38.1 | — 10 476 | LIHERE (£8)
7i7|8| LY~V —5— 56.0 (NF) g | (B J PN
X ThANAN BIA 2 E-FR FERS
N - s : —6-7- — THiERE (EE)
glgli|Exa—F17%q i 5 o 1(.33/14)2 6-6-7-5 | 38.9 9 :361) %”):%
L:TvAT7> b oyh— BUTITS5147 ]RE Ih#
IR RBEREZ :31. -1-1- . — JIBEZEF (£8)
9|11 |¥F—7V>EX i 5 =5 1(311)4 1-1-1-2 | 39.9 7 (i?) s =1
RN—=Y754 B:iky hw2R FERRE AR
o= s 4 BEEIFE :32. —-5-5- . - BEEXE (£8)
10 7 RSTL 45 4 o 1(342)1 4-5-5-7 | 40.1 1 (5+133) EIJ%%R =1
L:Er/n7O4 B:y—Hut)— TS
N — HKFRA : -11-11- - FlIEBE (EH)
1lsliol T7vF 1 B 09 ] 1.(3733.5 11-11-11-11{ 40.2 11 z:g;) %EE% ="
T TRy b BT NT A (B) HEI-RL—-2a>AET7
@ 1 — S —EBlIEf
13=7r= 1,3,6,7,5,11,4,8,9,2,10
2= = 1,3,6,5,7,11,4,2,9,8,10
Jol=5r= 1,3,6,5,7,2,11,4,9,8,10
40—+ — 3,1,5,6,11,2,7,9,4,8,10
[ N3
H OB 3 2,270 714K 2-3 1,440H & 2-3 6,120M 3EHE 2-3-5 6,090/
8 B 3 480M Ba0 1,210 B & 2-3 6,200 K31 3-2-5 72,3604
2 160/ 2-5 570M B H 3-2 16,430M
5 240M

ABICOVWTRDTEEERROODE. TR LIV,




